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SECTION - |
quy _ |
CHILD DEVELOPMENT AND PEDAGOGY

I -{aT v fyraror fufira

There are 30 questio

All : nsin all in this section,
questions

are compulsory,
“4 998 0 g5 30 uy ¥
| e sy 3
cording 10 Albert Bandue. |
According L . L‘I'l Bandura, four conditions arc necessary in obscrvational
lcarning. The right Stquence of these conditions is

(A)  Motivation — Attention - Retention — Reproduction

LH) ﬂilt&nti()ll i M()li\-'illiun —_ IQQlcn[jon —_ chroducuon

(C) Attention — Retention - Rﬂpl'nducliun — Motivation

(1)) Attention — Retention — Motivation — Reproduction

Fedd UGN & STER e sy v OR oRffad smavaw 81
afcfesfaa &1 w8 # & -

3FTIOT — 3{ear — oy REETICe
(13) A — EJTﬁWTI — YU BGLIRICE]

AE) S — YRV - Qe TN

(D) U — YRV — AN — YFEanEs

According to Sigmund Freud, which method is most appropriate for identifying
the characteristics of unconscious mind ?

(A) Case study | (B) Drecam analysis
(C)  Sociometry technique (D)  Interview .

famvg g % SFER HEaA 1 @l faivaia # {6 F # waiive sugw fafy
Hi-H g 2

) Aafenes- svema B @ faveso
) wmsinfa e (D)  WIEThIK
A.D.H.D. mecans

(A)  children with speaking difficulty

(3)  children with hearing deficiency

(C)  children with disorder of attention

(D) children with visual impairment
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v.glua . & sy

(A afuss &fear ard wrems (B) AT e A AT

aferdaar aret Arels

AC) 1 fa@dr e g (1)
4. A test designed (o reveal a Pcrson’s sirength or weakness in onc-orf MOre ircag,
called
(A} Remedial test (B) Diugnostic test
(C)  Achicvement test (D) Formative test

UE udeiv S oAfd &) et v o s st 4 sga) fagmensl 3R Al 41 2,

A & Id S 1A R, Fwey g

(A)  STERIHE R0y —4B)  FreEmEmE adem
(C) 3wy qlieror (D) T qdem
5 By which constitutional amendment the Right to Education’ was added in the
Constitution of India ?
(A} 86th Amendment (B) 74th Amendment
(C}] 89Yth Amendment (D) 91st Amendment
YRHEE WY O #59-3 Wmlﬁﬂ'maﬂ 3ty witafam faar ™ ?
4A) 86 T GV - (B) 74 91 dyim
(C) 89 di Iy (D) 91 =7 Gy
6.  What is thc minimum number of hours of work per week for teachers in th
Right to Education Act, 2009 ?
(A) 30 _ (B) 56
(C) 45 (D) 70
feal & siferem arfuafirem, 2009 H foeeh & fora oft TR =em w1 e o ga
e 7
(A) 30 (B) &6
£) 45 (D) 70
7. Which kind of rescarch is done by the principal of school to identify angd remove

the causes of various emotional problems of the students ?
(B) Qualitative Rescarch

(D)

(A} Action Research
Descriplive Rescarch

(C)  Historical Research

8982 |
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, FRUT
R 9 3% QU F o PIF-H1 AU [ s & 2
L e S B) T S
dfeas TTHYH (D)  AUMIHS HATHYH
(C) i .
2 Which of the following theorics is rclated to lcarning by consequences ?
(A) Opcrant conditioning (B) Insight learning
(€) Classical conditioning (D) Cogn\ltltrc learning
e et 3 3 Fo-w fagra oo g1 dER § gty € 2
A TR ST (B) Qe AT
(C) TEE 3T < (D)  HAHIHD SICEII _
) When we use our current 'schema’ to interpret the external world, it is called
(A)  Assimilation (B)  Association
(C) Adaptation (D) Equilibrium _
4 & TAH TR SR SR ST % faveriu] & #d §, 79 39 Fel 9l @
(A)  SCHERHETT By =N
€ Fpe D) e
10.  Which of the following is not a characteristic of projective test ?
(A)  Ambiguous stimulus (B)  Frcedom to respond
(C)  Subjective perception (D) Objective interpretation
FcfEd 5§ FF-W veda e F e @ ¥ 2 ,
M e FEF B) 3T HAT Y T
() AT — (D) aﬁﬁﬁaa{[@'{
11. Child centred pedagoa,r means .
(A)  asking the children to follow and imitate the tcacher
(B) letting the children be totally free
(C}  giving moral cducation to the children
(12)

oices ¢ g L
I iz Tweor fafa s a3 and their active participation
(M) R SR S S a4 fordy e
(B) I &1 QU ®T U @y 3y
(C) aedi &1 Afds Toen 0

ssos2  INMLINAIN
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/2- Raven Progressive Matrices arce usced to measure
(A)  Personality (B) Learning

(C)  Intelligence

13.

14.

sgos2 | [FIRIGHIIEIY. t-o

(C) Punishing them

H-A - 6 ) g

(D) Creativity

©) o= (D) AT
According to Vygotsky, children learn

(A) by initation
(B) by interacting with adults and pueers

when reinforcement is olfered

(C)
(D) by maturation
et & AR T HhEd @
(a) TR
) FoReR] R THATER & [ WER fwdl 4
(©) 9 e SR fehar siEr €
(D) iy g |
Which psychologist first created the intelligence test ?
(A) Wechsler (B) Binet

(C) Spearman (D) Cattell

g TS & g0 @aved dfg g &1 famir fear w2
(A) FFRIER AB) fert

(C) . wETH ‘ . (D) e
What cffort should a tecacher make for the upliftment of Gifted children ?
(A) Slow to teach (B)  Special classcs and mullivalion
(D) Ignoring them

@%ﬁwgﬁmﬂﬁaﬁﬁ%wéﬂaﬁq-mmmm ?
(A) TgH I HE I,  4m Fafere e A S

©) 3 ave & (D) 3 9 A G A
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16. If the actual age of the child is 13 ycars and mental age is- 14 ycars, then what
will be the Intelligence Quotient ?

(A)  112-50 (B)  107-69
(C) 11025 (D) 100-50
2f¢ e ® ARE A 13 99 7 R qEiEs o 14 AW @ A ghgetter
gt ? | .
(A) 112-50 _4B) 10769
(C) 110:25 (D) 100:50 '
17. The

‘Classical conditioning theory' of learning was propounded by

(A)  Skinner (B) Pavlov

(C) Thorndike (D)  Kohlberg

S & Feniase st fagra s fear o
) w3 B)  TEEE S
€ orERs : (D)  wlgeaT
18. Causc of juvenile delinquency is
(A)  parental conflict
(B)

(C)

sympathetic behaviour of family members
working in family with mutual consent
(D)  wealthy family
TS~ 3T S HRVT &
AN OE-{9ET H e @ |
(B) URER % W i Ferfot AR
(C) URER | 9y #i wedtd ¥ &1 g
(D) W€ TR

19. Which of the following has been ignored in children's Free ang Compulsory
Education Rights Act, 2009 ?

(A) Facilitate training of teachers
(B) Ensuring entry of roaming boys
(C) Defining Academic calender

D) Arrangement of education after 14 years
(

; 11- & P10,
ss082 | INTILIN
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¥ 'éﬁaﬁﬁmaﬁwmﬁuﬂ.zmgﬁﬁmﬂﬁmm
A
(A} 37eoqmet &) wfgeror gl 9eH FAT
(B) 7] sror & v @1 g S
(C)  Hsfuw gy 1 fyifa s
JB) - 14 98 F qyary frsr szawEn

e

~20.  Which of the following steps makes research, action research ?
(A) Construétion of sub-concepts

(B)  Programme implementation and evaluation

(€)  Generalization

(D) Review of Literature
ERAEE L T T I —— -
@ SweEe bt ., F1 AT UE o)
(C)  WM=frror (D) W& T GO

The aim of adding Art Education in N.C.F, -2005 is

{A) to in_lprovc logical reasoning

21,

B) to develop scientific outlook

(C)  to appreciate cultural heritage
(D) to visit historical sighls‘ _
TAHUF, 2005 B el e ) e w7 siva & - -
(A) i famr o sl (B) aﬂrﬁaq&aﬁqw%ﬂm o
H.LGI WEplas formed &) wer () Q%\mﬁmwamqﬁw
22. Development is never ending process, this idea is associated with
fA) Principle of continuity (B)  Principle of 'intcrrélation
(C)  Principle of interaction (D) Principle of int_c:gratien
fehTd st 7 QAT g arelt w8, g fEr iy i
_iA) ﬁﬁw%ﬁ@'ﬁ@ (B) ﬁm%ﬁjﬂﬁ
© s=REfFmEfgmd o) RS e g

' ' P
.Which of the following is not a component of intelligence *

23. _ . o (B) Vocational choices
(A) Logical thinking D) Leami_ng from experience
(C) Mcmory
| 666
agos2 [N

https://www.pygonline.com



https://www.pyqonline.com/

STL-2 9 ]
Crerfeafiger 3 @ FH-E1 GG FTIEF T E 2

() aifee fa B) A S
() wid (D) 3l | die ~

24. Which of the following is not a psycho-motor activity of a child ?
(A) Thinking (B) Writing

(C) Throwing a ball (D) Playing

Erffiaa 3 @ eTE @ B -H AR FATETE T 2

) =T B) forE
©) TR el - (D) @

25. Who gave 16 P.F, questionnaire to assess personality ?
(A) Gordon Allport (B) Sheldon
(C) R.B. Cattcll (D)  Sprenger
Sifeca &) TR & ford Gete 9.0, wyEe! feae g 2
() TIEH 3T B) dwed

AC) AR hed D) B

26. Which of the following is a characteristic of a gifted learner ?
(A) He can ‘fcel understimulated and bored if the class activities are not
challenging enough
(B) He gets aggressive and frustrated
(C) He cngages in ritualistic behavim;r like hand flapping and rocking etc.

(D) He is highly temperamental

frfefiag & @ FA-Ot Fvwar ufavrer faered it & 2

(A} uﬁ:amﬁn%ﬁﬁmaaﬁﬁﬁ?ﬁtgﬂhﬁﬁ% a’raga?:rﬁﬁasﬁﬂam
g 3R I AT

(B) % STHHME AR Hisa & v €
(C) o8 Tt SHEER HAT § 94 1Y g, feerr anfg

(D) 7 Sigd & GRS el ¢

27 Inclusion of children with special needs

(A) isan unrealistic goal

(B) will increasc the burden on the schools
(C) requires a change in.allitudc, content and approach to learning
ren without disabilities

. P.T.O.

(D) 1is detrimental to child

3gos2 | WIBHUMNIN
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e ararvgeer aret a=al @) wEe HE

(A) T sl e &

(B) faureal wv wir sgT M

(© Foreor & s gfizeion, fasa-a 3R HROT

(D) hﬁmmqﬁ,ﬁﬁ*ﬁﬁw%
_28 Problem solving is not

(A)  goal directed

) arET T@AT € V7

(B) a skill that can be learned and practised
(C) based on the understanding and use of :scquential steps
(D)  about musical ability
[T G TE 8
(A) R
B) TE FWE ¥ A drar s g & S foret s foRan ST W §
(C) WHH 3 sHiieh Tl & WA W AN @ -
p) Gt wredt dgar & 9 H

29. Thematic Apperception Test (TAT) of measuriﬁg personality is a

(A} subjective technique (B)  objective technique
(C)  projective technique | (D) experimental technique
AT ey qiieTer e Y ToS Y _
(A) ATeHS fafy & B) &= fafy

_AC) e fafy & D) e TR g

30. Which of the following leads to creativity ?

(A)  Emotional thinking (B)  Convergent thinking
(C) Divergent thinking (D)  Egoistic thinking
Ffefad 3§ @ $9-a1 gommmsar # 3R & s & ?

(A)  iEfTE fam (B) AR} fame

4€) Igart faaa D) e

38982 [N ~ [es6
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g ug - 11
et - 1

fe=t
39 WUE 1 el 30 WA & |
Tt v arfEm &
o, Frefead & & e oo &1 3e9d T
(A)  Wife o H IROW S (B) SHEG AT
(©) %ﬁﬂwaﬁwammpp T T R FEAT
32. ‘ﬁmﬁaaﬁm%ﬁ’%ﬁ@ﬁﬁuﬁﬁﬂ%'

A ' e (B) W 1 S |
(© 9 nia # fegia | (D) ﬁ_aﬂﬁwaﬂ?ﬂﬁiﬁ
33, ft § § F-80 TR A H A W E 2
(A) 3K e | By TRV ATEA
(C) THAd A - D) T e
34, T O qeUE W PR W E
@ e - L (B) RS
AC) - FHTS T ~ 4D)
35. WS T FIFR & ' -
A)  SEAEE () foreTOTER WA
_iC) fq?»n?rw - (D) TATEAHHR T¥H
5%, Pttt 3 @ @ foememelt ggr @ weet feraen fear & v o E 2
W FEAEEE (B feemRm
e) - & S (D) TIRET WO <

37, T 937 F TN ¢
(A) IRV 3STTH B e freran € |
AB) w@ad & vghd fHeiad gl § |
(C) TS I YA hl HIG B L |
(D) USMmTe @ wiEl 1 G ISR FE |

asos2 | IBHIINNIN | [666 g - PTO.
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38, Welled A€ & |
(A) S g 4B 3vd g
(C) AT T (D) FiAe A

_39. ﬁo@oéoﬁwwmﬁﬂmﬁ@qﬁ% - cee
@A) fowat wt s (B) STHTUI i SATTHAT
() &R T D) wf SR

40, T =) forfvre foren =1 31 fo T W @ el 2
A4A)  WEEE & (B) Iea At &N
() s W (p) e A R

a1, ‘ﬁoﬁmmmﬁﬁﬁ'mﬁﬂ%‘m’@mwﬁﬁﬁ%?
) = . () TS
() forar-ferimor 4D) TP [T

sz “Tivgy sramer T & SqER A ‘o I E 1 %@ﬁﬁﬂﬁﬁmﬁaﬂ?ﬁﬁm%
A) FE [GE | (B) [
€] = oD) TSR

43, Frfefae § @ Fw o gt 2
(A) wmﬁwﬁwaﬁtwﬁﬁrﬁuﬁmﬁl
T At | 3 e g @ AR maﬁwﬁwmﬁmﬁm &
A E | .
wmmﬁwmmﬁmmmﬁawwaﬂfﬂﬁmm
ey #ed & | -
D) Ut % Wl W W g IR |
44. "FH YH 913 W deH A, | RRet T qwaT W o1 | I @ I§Y @
mﬁmvmﬂm@@a”m@amﬁﬁmmw%aﬁmaﬁ

(B)

(€

F &
W F, T, g B W, v@ fg
©) 8, %W, feg D) FW, fbmg, @

4. "I A B W A g g
¥ A it et 3 g g o e

A T, faeh B e, 2, v
O %, o () Feh, fel, dvr
e e
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frafeifaa e & R e den 46 A s0 A% & I A
Y W FAlfaeRl @ Goten @, @ @ FE 937 W AE AR TEEER) w R
A W I R &1 awsw A | F g8 g3 F Uy FEa & w P & | U
X HarT fdl Y HEEn W HFEER W ¢ ) AN §<d ° IW HAG FEen &
ufdq 541 398 W@ & | W 41 &t 3 vl o @7 AR winel Haer o gl € 1 afg
g% i e U gt ot I/ F IHL &7 31U g1 & A & WA HL oA |

a6, Frfefa § | ‘&’ v #1 qgar €

A) @ (B) W
© FRer ~ (D) A
47. 'SEER’ WK ¥ BH-G1 3T & 2
(A) I N 4B ¥
(C) 3t . - (D)
48, Frtfifan & @ e W ¥ |
(A) SO (B) EH
) Ll o (D) I
49. FraffEn @ fFa T A @ e gam @ 2
(A) BT AB)  eitell
© ™ D) I
50. 'THifOR’ ¥eg 1 FHTE-forre ghm o
(A) TAEfEPR B T R =R
) TEREER D) T ¥ gRT FaER

P Teier % SR O TR UEAT 51 ¥ 55 7% ¥ WA ¥ IR AT :
& Ty el T, T GO TR T e W @ Y | e W R0 A R
f 39 ) 9gE 9 & R ¥ FOR URHT T e 9 aF T a1 5 H
Teed 3R ged ¥ ST @ @l | ¥ o off sRmeew € | ¥ %0 ¥ FH &M N
Sfaert WA & °ed € | 9% gvd wAghd T @t e § W1 98l & | 9k §F
THE T e @i al 39 M & G wehal AR T GO H uRor el gl wha |
a1, ‘o ey foet T’ ey W -1 e § 2

(A) WHEY YRt (B) HWIeH Hiasaq
piC) G I | (D) T S
<CELPR| [T 666 P.T.0.
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52, fm i @ @@ v e’ § 2
A)  wAhd (B) Gﬁ‘%ﬁl .
€ w3 «h)
53. MY & AR ‘uRuE’ vel & 3 ¥
n  frm (B) foreifed
AC)  wRE (D). forter
54, ‘TAIghd’ wIsg & FEA € )
() HArgE g e
©) mEfas (D) EgEI
55. ‘gfwd’ vis @1 3 @ s
) AT - B
€) JE | (D) 4 & e
56. mﬁg@ﬁhﬁmﬂﬁ% ?
(A) T Bl :‘jﬂ
o (D)
A T SR R (B) 3T AR ST
To FhgEm e wER () e T
58, 'O HEAT TETER 1 e I & '
(A FETGEE FTE FA
B TR g .
) Fo 49 HWA g
) AR & A T fer - 9 &M ﬁﬂ?{m |
59. ‘4 W{ 9T T, mﬁﬁ'aﬁﬁ?m‘{w% [ Tﬂ?ﬂﬁ@%@ﬂﬁm%ﬂw
H 7 7 :
M) Y A (B) Ul A
(C) g a1 (D) TEegHaTas Iy _
60. ‘I {1 Tl &' R & SR W TH AR B YF § |
(A} A gy AB)  fouraras a9y i
e D) e
swos2 (N1 = w
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- SECTION - 11
‘ LANGUAGE -1
’ ENGLISH
There are 30 questions in all in this scction.

All questions are compulsory.

31. Truc or Falsc answer Llypc question is a typce of oooiiniinns question. |
(A) Essay typc o (B) Objective type
(C) Descriptive type (D) Short answer type
32. Unit test is an cxpression of ............ cvaluation.
(A) normative (B) effective
(C) formative (D) conatiyc

. %
33. Evaluation is a process of

(A} Ascertaining the quality, value of outcomes
(B) ﬁetermining the extent of the achievement of objectives
(C): Comparing the Ioutcames of instructions
(D) All of these . _ )
34. Which of the following is a dxsadvantagc of Situational Approach ?
(A) It creates interest in teaching . ' . L

(B) Itis action based approach

(C) Text-books cannot be taught by this mcthod o

- (D) Material aids are uscd in this approach
35.

The text-books help the tcachers in which of the followmg ways ?
(A) It makes the teaching of English systematic
(B) It checks the teacher fmm going.astray
(C) It facilitates self-learning and self-study
(D) All of these
36.

In which of the following sentences is

‘have’ used as main verb ?
(A)

.I have a shower cvery morning
(B) I have lost the faith now _
(C) T have never been to Delhi before |

(D) T have admitted my fault

wos2 (WG~ [ese
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37. In which of, the following methods of tcaching English 1anguag Inductive ang
Deductive techniques’ of {gaching ate used :
(A) Grammar gum Translation method -
(B) Direct method S -
. * (C) Substitution method o *
(D} Bilingual method «, , _ ]
38. Which commission in 1948 accepted the importance of English*language in our
' curriculum ? _ ¥
(A) Dr. Radhakrishnan Commission \
(B) The Secondary Education Commission S
(C}) Central Advisory Board of Education s ey
(D) ¥Kothari Education Commlss:on '
39. Who of thc following proposed Listening- Speakmg-Wn!mg-Readmg order of
teaching for lcarning English as foreign language ?
(A) E. C. Kittson (B) Robert Paul
(C) J.A. Bright (D) P. Gurrey
40. Which of the following approaches aims at tcaching English by estabhshmg
thorough drill and repetition of about 275 graded structureg ? _ .
(A) Structural Approath (B) Situational Approach
(C) Bilingual Approach (D) Communicative Approach
41. Dr. West’s ‘New Mcthod’ of teaching English emergcd to overcome the limitations

of which of the followmg methods ?

(A) Grammar cum Translation method
(B) Substitution method

(C) Direct method

(D) Situational method _
In which of the followiné types of substitution the variables’ cannot be

42.
interchanged ?
(A) Simple substitution (B) Compound substitution
(C) Complex substitution (D} Grammatical subslitution
43. Which of the following is an advantage of Communicative Approach ?

(A) It tcaches ways of expression
‘ (B) It ignores grammar and structures of our languages
(C) Its practical utility is yet to be awaited
(B) Itis not properly and scientifically developed as yet
~44. Which of the-following is related to the mental development of the learner ?
(A} Exposition (B) Imitation
(©) Characterization (D) Comprchension

8982 I"Hﬂmmm 666 |
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45,

46.

48.

49.

50.

Which of the following is an audio-visual teaching aid ?

(A)  Gramophone (B) Flannel-board

(C)  Television (D) Radio

Which of the following prefixes can be used to form the opposite of the word
legal™ ?

(A) 1l- (B) dis-

(C) un- (D)  im-

Correct one word for “That which never [ails” is

(A) unfailable (B) infailable

(C) unfallible . (D) infallible

Which of the following has a correct.structure of a question ?

(A)  Docs Ann has a car ? (B) Does Ann have a car ?
(C) Have Ann a car ? (D) Did Ann has a car ?

Which of the following is correct ?

(A) T hope he'll succeed at his work (B) ['hope hell succeed on his work
(C) 1 hope hell succeed in his work (D) I'hope he'll succeed for his work
Which of the following is correct ?

(A) The old car moved much more faster than the new car -

(B} The old car moved more faster than the new car

(C) The old car moved much faster than the new car

(D) The old car moved much more fast than the new car

Read the passage and answer the questions that follow :

Prose Passage ( Q. Nos. 51-55) :
Too much importance must .not be attached to the wrong acts donc by children,
particularly if they happen to be of minor nature. Many boys and girls at a young age
arc likely to be in the habit of stealing, neglecting their studics, slipping out of their
classes or using bad language. In nearly every case, the root cause of the trouble is the
fact that proper care of the child 1s not taken in the house or sufficient interest i1s not
shown to him. But if the parents were wise, they would corrcet the faults of their
children by paying more atiention to them. Whatever the case, one thing should never
be done. Bad things in the children should never be repressed, that is, they should not
be compelled to change for the better under fear of the rod. Physical punishment does

not improve them. It only makes them worse than before.

Which of the following phrases has a determiner in it ?

51.
| (A) Causc of the trouble (B) Change for the better
(C} Worsc than before (D) Many boys and girls
asosz | IV 666

P.T.O.
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i’ in this part of sentence has bee,
- s fact ...
52. ... the root cause of the trouble is the fa

cused as , . ‘
(A}  main verb (B) helping verb
l L. D reposition ’
(C) conjunction _ (D) P " adjective in their correq;
53.  Which of the following has the three degrees of t .
form ?
(A)  Much, more, most o © ot
(C) Bad, badder, baddest (D) Like, likelicr, likell

. . . ) . lippin out of their
54. ‘.. in the habit of stcaling, ncglecting their Smd“’i’ uic—‘gpa—f
classcs ... .’ Underlined words in this part of sentence ar
(B) anjunction

(B) Many, much, most

(A) main verbs
(€C) gerunds (D) adjectives

. i 1t P
55.  Which of the following has a possessive pronoun in it «

(A) Bad things iri the children (B) Faults of their children

(C) They would correct the faults (D)~ Whatever the casc
56. Which of the following structures of a question is correct ?

(A)  Why didn’t you told me that ? (B) Why you didn’t tell me that ?
(C) Why didn’t you- that tell me ?

57.  Which of the following structures of a question is correct ?

(D) Why didn't you tcll me that ?

(A)  Will be they arrested if they refuse to leave ?
(B) Will they be arrested if they refusc to lcave ?
(C) Will they be arrested if they refused to lcave ?
(D) Will they be arrested if they will refuse o leave ? )
58. Which of the following passive voice of the given sentence is correct ?
‘All his friends laughed at him.’
(A) Hc was laughed by all his friends
(B) He was laughced at by all his friends
(C) Hc was laugh at by all his friends
(D) He was laughed at all his friends.
39. Which ol the following words has a diphthong sound ?

(A)  Speed (B) Liquid
(C) Paternal (D) Out
60. Which of the following words begins with the consonant sound /j/ ?
(A} jealous ' (B) zcal
(C) ycast (D) gist L
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STL-2 '

SECTION - III
LANGUAGE - II
ENGLISH
There are 30 questions in all in this section.

All questions are compulsory.

61, ‘Anclegy’is
(A ajoyful lyric

/U’j] @ pocm on death of someone dear
(C)

a sonnet on nature

(D)

a marriagc song

62. The speaker / narrator in the Pastoral elegy is

(A) a musician B a.shephcrd

(C) a painter (D) a.sculptor avab cded
63, is the rhyme scheme of the English sonnet.

Jr aba-bLEQCd, efel, gg (B) abab, abab, abc, cde

(C) abc, abe, def, def, gg ' (D) abcde, abcde, efef

A%, The drama that developed from religious rituals -was

J#&) Classical drama (B) Elizabethan drama
(C} Medieval drama (D) Melodrama
65. /'buri/‘ 1s the correct transcription of |
(A) beri _ "t AB) berry
(C) bury (D) beary

66. ‘Exist’ is transcribed as
(A)  /cgjhist | - (B) /cgaest/
) Jegust] < (D) [lglast/

A7. The correct transcription of wirtue' 1s

qtm )

(A) /warchu:/* (B) /va‘:t[u:,f’

P fvortfu:/ «(D) fwstfu:/

38982 | BN 1620

https://www.pyqonline.com

cles
41

P.T.O.



https://www.pyqonline.com/

STLQ
32

E

_imortant role for |
.medial classes play an impor e 5
68. Remedial classes P (B) bright student
() socicly (D) intelligent ones

J,Q] disabled ones .
an adequatc ¢v
C)b{‘ An important fcature ol an adequ _

(A) 1tis irresponsible

aluation 18
By itis diagnostic
(D) 1t harasses students

(C) it enhances learning

( Q. Nos. 70-72 ) :
“The wind lies asleep in the arms of the dawn
Like a child that has cried all night.”
70. The sccond line is an example of
VLK] Simile

(C) Personification

&l./' ‘Metaphor’ is defined as

(A) far fetched simile

(B) M etaphor
(D) Alliteration

(B) implied simile

(&Y covert simile - . (D) explicit simile .
72 i is an example of personification in the above lines.
)  Wind (B) Child '
(C) Night (D) That

73. Blank versc is iambic pentameter
/I,A] without rhyme .
(B) with rhyme"
(C) with altcrnatu'rhymc
(D)  without ullcmalpc rhyme
74. 'O wild west wind, thot breath of Autumn’s being.’
The above line contains
AR)  Personification and alliteration -
(B) Simile and allitcration '
(C) Personification and simile %

(D) Metaphor and personification™

75, . I was no better than a dead man, | was alive ang was ah
the shore. T~ .lc 0 recach
y’ﬁ Though - _ (B) 1 <
(C) Yet (D) Morcovcr"{
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76y Moeasles an infectious discase
{AD IS ..-'f”'] s
(Crowall (D} have

..... Lomecting us tomorrow,

My tnend and his father

AAL are ) (B) s
CH o wall (D) have
78 The lisherman cast his net for two whole days but .............. not get a good lot
(A} cang | (B) might
(C)  could (D) may
/9. Ravi's uncle guided him how he ....oovvvviein.. attempt his test.
(A) can = —~B) should
(C) mayy (D) will

80. ‘Flying in the face of means

(A) respect ' _ (B) pray
AC} reward (D) insult
81. By fits and starts’ means
(A) | not fit to start (B) good omen
I€)  not regular (D) speedily.

( Q. Nos. 82-83 ) : Read the following passage and answer the questions :
‘Watching television for a long time could lower academic performance. It ‘steals’ away
the reading time. Time management is about self-discipline. Time must be managed

between {illed and unfilled time.’

82. ... s may be an appropriate title for the given extract.
(A) Discipline (B) Self-respect
ML) Timc-management (D) Television

His father never starved, but he couldn’t cast any doubt on the story. S0 he had
to make an effort to hold his tongue.’

83.  The linking devices used in the above extract belong to
(A) | concession and cﬁnlrast . (B) opinion and purposc

- .. , » sC ugncb‘
(C) condition and adding idcas AD) contrast and conscd
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(M
84 Adjust’is transcribed as ¢ p (\-B] /ad] ust/
}A) ,"G'd'lv,r\slj 4 - A3 '
» D) [ 2dsnst/
(C)  /8djust/ < [ 0 2
85 “Velar' is the sound formed by
(A} the front of the tonguc and the hard palate
B the lower lip and the upper teeth «
(C}  the blade of the tongue and teeth ridge
(D) the back of the tongue and the soft palate
86. Sounds LN, 0, v ete. are
(A)  scmi-vowels (B) lateral
A3 fricatives % ' (D) nasals.
87.  Which of the following plays the basic role mc ing a mother tongua
(A} Motivation ~AB) Natura]ness
(€} Habit formation (D) Purpose
88, 1S one of the chief chamclenstxcs of Commumcatwc A}:iprodCh
(A)  Examples are given to make the things clear
(B} It does not necd trained teachers <
‘)2} Learner learns the target language as mother tongue -
(D) Textbook plays an important role
/Pg Linguistic variability or multiiingualism 1sa ... . to acqulrc the knowlcdgc
of a forcign language.
(A)- boon (B) hardship
(C) tool - )['D} ladder
90. The basic remedial English may cover
(A) vocabulary (B) reading Comprchénaion‘
ﬂ] both (A) and (B) (D) none of these
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SECTION - IV / @Ug - IV
In this Section. there are > sub-scctions i.e. TV(a) Mathematics and Science .ind

IV(b) Social Studies. Both thc sub-se ctions consist of 60 Multiple choice Questions

cach.

The candidate has to choosc cither TV(a)
Studies as sclected in the Online Application Form and

wwnmau@ngmﬁaw[alﬂﬁﬁﬁmfﬁﬁmmb’mm?'Tﬂ
Wma%wmﬁeoagfa?wﬂum%t

T F1 1v(a) ifry o fo P IV(b) WO ST, R A
AT 3 o 2, 3 1 forel e TG F A & R 60 WA I €

Mathematics and Science OR IV(b) Social
answer all the 60 questions

SECTION - IV(a) / @S - IV(a)
MATHEMATICS & SCIENCE / Tfura e fasm=

Th
au;u arc 60 questions in all in this scction. The candxdatcs who have sclected this
JeCl must answer all the questions.

Wwf’%wmpﬁmmmﬁmﬁﬁwﬁmmwﬁ%ﬁwﬁwm
sfamd &)

9} - The disease caused by virus is

(g} T}’pk‘mid | (B)  Malaria
(C) Rabies : (D)  Diarrhoea
A TEwEE B) HerEr
€ Wi . D) ¥
92. Ycast ( Khameer ) is an example of |
(A) Bactena - (B} Fungi
(C) Virus | (D) Algae
4R (@HR) T I[EA § S
(A) e T AB)  HAH
(c) Tesmor & | (D) ¥ A
—/é Which of the following is a cold habitat plant ?
(A) Hydrilla (B)  Bamboo
(C) Opuntia (D) Soldanella
frtfetfiga & @ F-97 vid SETR H IR &2
A EEEer . «B) ™
(C) ATTHAT = - P UE

sos2 [gHWNN  [SES] _ "o
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clla typhi

4. Match the following : a. Sa[{llﬂn, zoster
1 Tuberculosis b. varicella Z  tusis
3. Whooping cough d Mycoba‘:te”u S
4. Chicken pox
The correct answer 18 4
1 2 2 c
(A) d a a
B) d b ¢ b
(C) d a ¢ d
(D) a b ¢
ﬁmﬁaﬁaaﬁﬁﬁfﬁﬁﬁaﬁ%ﬂ-z: Wz@tﬁ
2
1. &a T 2 . -
< b AT SN
2. ZEARES — - .
3. TP @rdt o - argeen WEEH
4. ﬁz} Iﬂmf’ ‘d° -
TE IW & |
1 2 3 4
(A) d— a- b c
(B) d b B c. a
€ d-~ a _C b~—"
(D) a b c . d
95. Which is the largest gland of human body ?
(A) Liver (B) Pancreas
(C) Adrenal (D} Thymus
AHE IRR & T6Y 51 o - ¥ 2
M) FF (B) IR

() 3fugen D) ey

96. In SI unit system, pascal is the unit of

{A) pressure - " (B).  work
(C) cnergy ‘ ' (D) power -
HILNT A Ugia o yreher fopaet o g2
A7) T . B @
(C)  FAr ‘ (D)  wife
97. Method of heat transfer by which heat emit - | i
) 1 ted by th hi
(A)  convection : (B) conduct:i’:m " Sun reachies the Ear
(C) radiation (D) convection and conduction both

38982 |WRMINMAYY 666
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———

—

ot daon ) e fafu g gd @ seafa s e d T @ 2
(A} Hdgd

s et

(B) e
(D) e R A <

98. An c:-bjn:ct 1s placed between two plane mirrors which are kept at 60° with each
other. The number of imagces formed will be
(A3 B) 4
) s (D) 7
WER 60° mmw@amwﬁm@aﬂﬁéuwwm
&I HE g
(A} 3 B) 4

~—E 5 (D) 7

99. Loudness of sound is determined by ................. of sound.
(A)  amplitude (B)  frequency ,
(C) pitch (D)  time period
= e et e gr1 fwifea =t SR 21
(A) - EH | +B), G
(C) TR D) 3 & .

100.

101.

When an object is placed in front of a concave mirror at its centre of curvature,
the image formed will be

(A) real, inverted and smaller than abject
(B) real, inverted and equal to the size of object
(C) virtual, erect and smaller than object
(D) virtual, erect and equal to the size of object

mﬁmaﬁa@%wmmﬂﬁwmw%,?ﬁwuﬁﬁm

(A) mﬁm,maﬁtaﬂﬁ@ﬁr

(B) aTiiEe, IeTeT 3R %] o WA & T
(C) ST, Wyl #R FE] 9@ B

iz) MWWWE‘;@_&‘W

Which of the following fcatures of mathcematics makes it a global subject ?
(A) Language complexity (B)  Brevity of language

(C) Uniformity of language (D)  All of these
nﬁmaﬁﬁmﬁfﬁaﬂﬁﬁmﬁf&ﬁwaﬁwaﬁ%ﬁwwﬁ% ?

(A) ST F) S ~(B) T @ Wik
(or TSI I TR o) AW

| ‘ S | P.T.O.
38982 | IIBUINAERIN o ~ |6se |
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o control which of the.

e skills ¢
1907 Through mathematics tcaching, children develop skil

following cmotions ?

(A)  Logic (B) gelf-confidence

(C)  Thinking power (D) All of thes® AT g F FE

1ﬁi%w$mmﬁamaﬁﬁﬁﬂﬁ@@qﬁa@ﬂ -

ferenfaa & ST € 2 '

(A) eI »tB) 1A -feradd

{C]‘ Ea q”'sﬂ%ﬁ _/f{{] sr,:rﬁ[ # Hqﬁn Wthh thC‘ move s fr()m
1

/ﬁ What is the method of mathematics teaching h is encouraged °
unknown to known and in which the tendency to S€arc .

" (A)  Synthetic method (B)  Analytic methott;1 ;
(C) Project method (D)  Laboratory m€ od o .
3 : : 2 @rel $id
wﬁﬁ&mwaﬁaﬁq—ﬁﬁ&:%ﬁﬂﬁm@aﬁaﬁaﬂ?aﬂﬁgafﬂﬁ
it wgta F e e & 2 A

(A) doisor fatg ofg)  favesm fafy «
©) gfarerT fefy otd) ST fafy
104. The community objective of defining mathematical terms is
(A) Cognitive . (B) Emotional
(C) Practical (D) Functional
ot a2t aRRE R 1 GNIEIEE 3o €
(A)  GIEIHS (B) WIS
e =R (D) &S
105. .........\...is nccessary to find out mathematical errors in children.
(A) Remedial test ' (B) Diagnostic test
(C) Oral test (D) Nature test
ArereRl | Aord Jiedt } T T ST & foIU SEvEs §
(A) SYIRIHE TRIETT g AR wliem
(C) Hifgs werr (D) T ey ]

106. Denominator of a rational number cxceeds its numerator by 8. If 17 ig
the numerator and 1 is subtracted from denominator we get"t;]b added to
€ rational

number % then the rational number s

13 ' 21
TR B 13
. 13 7
© = D 13

o2 (WU [es8)
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107.

108.

109.

110.

wF R WS R W IF S A 8 i ¥ o iy 17 Sz

W AT B g R
lqafi'r{fxﬁﬁuﬁm%mmﬁﬂ‘r%ﬂawm & ¥

a3 21
}
13
€ = 7
7 (D) 13

The smallegy

Square number which
7, 14 and 21 s

is divided by each of the numbers

[51 98 (B) 1764
[%) \SQf (D) - 2056
gmn@mmw@wmmmamﬁhmﬁﬁWE@H%Wﬁﬁ?%%
() 98 ) 1764
(C) © 394 (D) 2056
Thevalueof —__ 1 3/1 . ) i
SJ[T___ +J10 0_0_(_3_343 1s
0-000216 |
A 10 B) 001
€) 01 (D) 2.0
1 3 3 )
+J(0-000343) =1 7
3 [,___ﬁ__) ‘
0-000216 '
(A) 10 (B) 001

Shankar took a loan of Rs. 25,000 for purchasing a machine. How much amount

will he repay after 1 year 6 months at annual rate of 12%, when interest js
accumulated annually ?

(A) Rs. 25,850 | (B)  Rs. 27,680
(C) Rs. 30,000 AB)  Rs.29,680

Vi AR @HE & feTT 25,000 B0 YT AT §1 T 1 9N 6 A® TR 12% 1T €3
U T g9 eflerin STefe st anfves §aiiad aiar & 2

| ' ; ' 0 %o
(A) 25,850 %o (B) 27,68

- : 29,680 B0
(C) 30,000 Bo (D) .

. t the rate Rs, 2,500 each. Qut of which one
ceiling fa.::_incsit;er was sold at 8%, loss. How much profit or
he whole transaction ?

[B] T % pI'Dﬁt
(D) 1-5 % loss ‘ )

Rajan purchased two
fan was sold at 15% p_roﬁt _ant
loss percentage is obtained in

(A) 35% l_oss
(C) 3-5% profit

swosz (WIININ |
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Wﬁiﬁd‘@zsooﬁouﬁd@qﬁﬁ@@ﬁgiwﬁﬁ@@aﬁ 15% T 37,
< Y 8% B & ) 7 W 3 frd s o v €1 € 7
(A) 35 % & @ 7%
ﬂ 35 % ™Y B ‘Dl 1-5 % Hﬁ

decp is dug in g
A tank of 30 metre long, 20 metrc wide and 12 metre
rectangular field of len

carth sand sq
gth 588 metre and bread(h > ,Tgtr&‘;r };zight of the ficlg

dug out is spread evenly on the remaining part of the field. |

' raiscd by it is

(A) 25 metre
(C) 2'5 metre

(B) 2:5cm

g R T= = o
amﬁaﬂmﬁaﬁ@aw%ww@;mﬁfgg;@;ﬁ
ﬁqmﬂqﬁwwﬁmmw%nméﬁﬁ : |

(A) 25 WX o8 g-sﬁtﬁ

(C) 5.5 T _,{-1:)]/“25'\‘?1"':'\':T

i cm.
112. Dimensions of a cuboid are 60 cm X 54 cm x 30
6 cm can be placed in the cuboid ?

- 2700
(A) 360 (B)
(C) 450 (D) 300

wmaﬁﬁmﬁsqﬁrﬁxm@ﬁrxao
fF T @ T EHA € 2
(A) 360 -

How many cubes of sidc

@ﬁ%rwm%maﬁfﬁﬂwéﬁ

(B) 2700
_C) 450 (D) 300 _
113. For the following frequency table, the number of persons whose W{:Iglhts are lcss
than 60 kg is . '
Weight (kg) | 40-45 | 45-50 | 50-55 | 55-60 60-65 65-70
Number of 4 ) 5 10 ” 6 8
persons 1
(A) 26 _ (B) 21
c 29 (D) 32 -
() { 90-45, [ 45-50 ! 50-55 | 55-60 | 60-65 | 65-70
# I . I 5. 10 7\. | 8
A 6
% . ® 21 '
C) 29
m (D) 32
38982 i
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14, R - . - items i '
r[‘;ﬂ]liwlng pic chart represents expenses on different items in construction of a
M- Il total expenses in construction of the room are Rs. 2,00,000, then how

muc
4¢h moncy was expended on labour ?

Cement

Ironaﬁ '?2.° Bricks

54°
Oth
ers IC-IB" Labour
(A) Rs.
5. 10,000

N B
(€ Rs. 60,000 - :D)) ES' ig’ggg

S. ) : '

- 'r:ﬂé'_"q-r?:_ N ) , X - - R .
9 2.00 0 W R %ﬁwﬁﬁﬁqﬁnﬁﬁ@ﬁaﬁ@ﬁm%mﬁ:w%%ﬁnﬁﬁ
RO T E o ot et v s ey > o

!

i
e 72°
367
g 108
(A) 10,000 %o | _BT" 50,000 %o
(C) 60,000 To | (D) 40,000 To

115. A bag contains 15 red balls and some green balls. If the probability of drawin
g a

green ball is -é-, then the number of green balls is :

(A) S B 4
(C) 3 ' (D) 2 . |
Wﬁéﬁlswﬁi‘ﬁ@@ﬁ??mﬁﬁﬁﬁﬁzmﬁaﬁﬁqaa;%%
a9 g4 gl Y W © ~ .
B) 4

(A) .5
Q) @,\/ _ D) 2 | |

| ' ' P.T.0.

' 666
38082 RN ;
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-5 12
(30)7 x5 " .
116. The valuc of =——— 18
¥ 625x 67"
5
(A} 25 (B) <
G 125 (D) 62
-5 _el2
625x67"
(A 25 B) S ]
(C} 125 (D) 62
n7. lb]”""” +216 =36 then the value of x is
A 1 JB) 2
iy 0O (D) 05
oz (6)2¥ "V +216=36 T x T HA &
(A} 1 (B) 2
)y 0O (D) 0-5

118. By subtracting - 5x? +'?y‘e -4xy from 3xy+2

AN 7xy - 5y +3x* B) -7xy+7y’-3x°
(C)  7xy+7y’+3x? D) xy-9y?-7x°
3xy+2y?-2x2 B F —5x7 +7y? - dxy P HH T o A E
(A)  7xy -5y’ +3x? (B) - 7xy+7y*-3x*
(C)  7xy+Ty? +3x? (D) xy-9y*-7x*

119. Factors of expression 9a? - 9ab - 40b? are
{A)  (3a+5b)(3a-5b) (B) (3a+5b)(3a-8b)
(€} (3a-5b)(3a+8b) (D)  (3a+8b)(3a-8b)

ZH 9a* - 9ab - 4062 FI AEE §

(Al (3a+5b) (3 -5bjec ./5/]‘ (3a+5b) (3a - 8b)

(C) (3a-5b)(3a+8b) (D) (3a+8b)(3a-8b)
120 Thcvalucof.!’xd+?x+le+|'.\:+2] 1S |

A xel) - (B (x+3)

(€ (x+2) (D) (x+5) -
(x% s 7x+10)+(x+2) T O &

Do e

(€} (x+2) I (x+5)

ez WY - [ese]
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7 :f:]l“ WITe works on the basis of

© Magnetic effect of current (B)
thermal effeey of current (D)

WW&WWWWW% T Y

chemical effect of current
clectromagnetic induction

A -

W9 %1 gy g (B) T &I TR e
S ORI ik

" C&s]tapc velocity for any object on the Earth is

o 1?-1 km/hour ' (B) 12-1 km/sec

A 2 km/hour (D) 11:2 km/sec

T e UETES 27 gy |
(A '
[cl] f 1 W/ﬂa (B 121 freider/dee
112 freinfey /5 fretiler/dee
Ihara D ; ¥

123. A device ygeq 10 « ) 112 /

store documents or

(I'i;.‘m()g}"v;zg Computer i . _Picturcs available on any pape;r.mto digital
(C} PIU“CI’ (B] Scanner
(D} MICR ' '
Wﬂ?ﬁ—mmm%g ' ﬁ%w#mm*ﬁ‘m.
(A) 3 Uy |
) R OMR) < AB) W
: (C)  @12ZX ¢
(D
124, Sb is the bymbol for the element T o (MICR) <
(A) cmhmony (B)  sélenium
(C)  strontium D) tin
Sb {8 T &1 wefte ¥ 7
J4) e | B) Wefy
(©) wimy | o) fe
125. Compound among the following is
(A)  diamond (B)  graphite
(C) ozone (D) water
etfated & @ g ¢
@A) g B T
. “ . He® el
() ' O3 1 f?nTalc
126. The site of fcrtilmauon in human TB} Uterus
(A)  Vagina X (D)  Ovary
(C)  Fallopian tubc - ' P.T.O.
389
4982 [ I
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M .
il
l‘,\\] u‘ﬂ"‘
(B) ﬂu'mﬂ
4o a e ()
U ) . i
" { asexual reproduction i1 Hydra 18
127. Most common Imodf-‘ ol as B) Binary fission
(A) Sbnrylatmn | D) Budding
(C) Multiple fission
FRY H WHIAA 3l T AR &
_ fg-fa@usa
(A) STV : (B)
() wg-fagued AD) TP
A The term 'Hot spot' was given by
(A)  Ernst Hacckel (B) A. G. Tansley
(C) Walter G. Rosen (D) Norman Myers
T e weg g e
(B AR & A (B) U S TAA
(C) T S qET A (D) ARET HEg A .
9. Which of the following techniques is most suitable for the disposal of biomed;;-j"
waste ? _ ’J
{A]  Land fill (B) Incineration .
(C)  Recycling (D) Disposal in water 5
%ﬁﬁmﬁmmﬁwmﬁﬁmg@mﬁg
3UgEH & 7 !,'
W e B R
5 © T -D) ¥ ¥ Fgror
)3/ ['r:)]'nch;ll’th;;ollowmg is known as 'Birdman of India’ 2
alim
! (B)  A.P.J. Abdul Kalam

(C)  Homi Jehangir Bhabha (D) C.v. Raman
FeferfEs o 4 fagay W%aéﬁa’%mﬁwﬁm% ?
(Al Hellg 3:1?'?[ {B.} T. @, . Hege HeTH .
(C) &R SR gy Jo ®@&dow -

38982 | 1M | 666
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swachh Bharat Mission 20 volunteers can clean thejr village in 8 days.
431, Under -“‘“'lt‘ﬂ_m to be cleaned in 5 days, then how many volunteers will be
~ 'If \']”.E'G!,»"L_ '
required 7
w20 B) 32
15 (D) 30

e RA I S T 20 TiREEs iy &l

wia @l 5 31 1 ¥ AR, 0 e e ) AACTHA gt
(A 20 | B 32
Q15 D) 30

. 132. Partha moves from Jhunjhuny to Jo
average speed of 60 km /hgyr. What

takes 4% hours ?

dhpur by car to re

+ ach in 6 hours with an
will be average s

peed while returning, if it

(A) 80 km/hour (B) 70 km/hour
(C) 90 kmthur

wwmﬁﬁﬁw ﬁofﬁtﬁfﬁmaﬂaﬁmwﬁauéﬁqﬁm%lm
mwwaﬁaﬂwmwﬁmuﬁaﬁ%mm ?

(D) 60 km/hour

W sofwE/HvE B) 70 fFdi/guey

(C) 90 fel/guey (D) 60 fowrt ey
- 133. Three years back, the population of a village was S0000. After ‘
year the rate of growth of population was 5“{.:. In th’:‘? second year, due. to
epidemic, the population decreased by 10% and in the third year, the population
growth rz;.tc was noticed to be by 4%. The present population of the village is

that, in the first

(A) 50000 _ "(B) 53000
(C) 49140 o (D} 51140
ﬂﬁﬁmﬁm?ﬁwﬁmﬁsmoﬁimmwﬁm{ﬁmi
Wﬁa@ﬁﬁgélqmﬂﬁﬁnmﬁ%wmlpxwmmma
5% A . |
; 4
TR Y 4% T T | T Y A

. B 53000
(A} 50000 )

' 51140
L KT 49140 % . PT0.
n s 8
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r : - is
134, In given figure if p || g then the value of x 1

p % 95°

(A)  s5° (B 95°
(C) 65 (D) - 105°

I fa § p | g T A FAAE

A 55— B 95
(C) 65° (D) 105°

135. It is given that AABC = AFDE and AB =5 cm, £ZB= 40° and £A = 80°. Which on
of the following is truc ?

(A) DF=5cm; £F = 60° (B) DF=5cm; ZE=60°
(C) DE=5cm; 2E = 60° (0) DE=5cm; 2D = 40°
feat & 7 AABC = AFDE T AB = S AHl, LB=40"F LA = 30°ﬁ1=|1%1ﬁ§ﬁu—
’ Fw T 2 |
() Dr=s ;R = 60° _/(»Bj/ DF=5 al; ZE= 60°
) DE=SWH; LE= 60° (D) 'DE=S9HL #D=40°

36. The main cumin producing districts of Rajasthan.are
(A) Baran, Chittorgarh, Jhalawar
(B) Alwar, Jaipur, Nagaur
(C)  Sri Ganganagar, Hanumangarh, Bikaner
(D)  Jalore, Jodhpur, Barmer

38982 | [N 666
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CAUMARIE C [ SR

» 1-\; -3 .
A CINR —iﬂTgr]g‘ H]FITETTS

(Cl Sl TR, WWTE;‘ Eﬁﬂ‘m}{‘( o

.im-h of the followiy

W : g cel
;;r/ ) Mitochondria °rRanelles has forming face and maturation face ?

() Lysosome (B)  Golgi body B
s IS \ (D i
Wﬁﬁﬁqaﬁ“‘ﬁwfﬂw‘rﬁw‘] Hza;ﬁqﬁqmaawmﬁy
; “'ul] Iﬂm@]’ ﬁ] . . .
: y Eag
c) CTEHEm | D s
138 he number of molar teeth pres ( .} g
(A} two henté“ upper jaw of an adult man is
[C]. S1X ) four
(D) ‘eight
g9 I & Fo sz , sh
\ > 7 SO T St 8 e a3
S wtB) TR
tC(;:}l ?—1h foll (D) s
139. Out ol the lollowing which comes under "arad |
ienti : duct of science’ ?
(A) - Scientific attitude r pro 1ce
B : .
(C) Scientific laws ((D]] g?{;fz:::;lz; gi hypothesis
e . 5 . : n
e H | $-T1, faam % IR, & S AT D
A) S gl (B)  uREHEHT S

(©) s fram D) @

140. In science teaching, which type of learning should be
the learning difficultics of the students ?
(A)  Team tcaching . [B') Remedial teaching
([C)  Micro-teaching (D) Diagnostic teaching

frnféral & aiferm wieredl & T & Swet faw Ret , f R % R
F T @y A el ?

planned after diagnosting

(A)  geT Tereqor (By ST R
C
(C) ges Tereqon | lDlh ii:"*' T T
141, Chemical formula of aluminium sulphate

(B) Alal:SOq 2
D) AlSO,4 )5

| P.T.O.
R

} https://www.pyqonline.com

A ALSO,
(€C)  AL(SO4)3


https://www.pyqonline.com/

S'I‘L.2

@ 56

CHMHEY Sethe @&ty eE)

(A)  ALSO, B)  Al(S04)2
(<) .-"L‘I_E,[:"s(‘J_1 )3 (D) Al(SO,)3 .
y N \ .‘ ing 15
142. The metal having lowest melting point among the follow!
[C) antimony (D) arscﬂic
Fefefad & @ vt o memie e v &
48 ey B feaHd
(C) UHAY (D) CeiEEd .
. 1 15
143. Colour of phenolphthalcin indicator in alkaline medii®
(A)  white - (B) pink
(C) yellow (D)  light green
WY T 9 e as &1 O 8l §
(A) TEE | B TEE
Cdenm (D) & E
19) polymer of ethylenc glycol ang

144. Which of following synthetic fibres is a

tercphthalic acid ?
(B) Dacron

(A) Arlon

(C) Nylon (D) Rayon

P w8 @ S g e o s o
IETH § 2

(A) IREAH B S

(C) A - (D) @A

Onec of the teaching maxims of inductive method is
(B)  from part to whole

(D)  from known to unknown

145.
(A) from general to specific

(C}  from rule to example
A Ty 7 O R 9 € |
e T ARREF S B g R R
© FEHATEITH A @) T I R R

The main drawback of objective testing is

146. |
(A) lack of comprchensiveness (B)  lack of credibility
(C) lack of expression (D)  lack of validity
asos2 | MMIRKAN - [ese
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12

: g
-_ oot 1 SP1E
;A ‘ Cy FEaEEEr sy
I spaad) B |
' )
P.J»" ) R (D) AHAD BT 371
Wcll-; h qualitics are accurate in the cxam:::;t;on ?
. i : idit
Discrimination (B) . )’
(Al : (D) Reliability

i 1 Objectivity

(<l d|
i Y ?
r ﬁmgma;a,—qmqﬁmﬁﬂamﬁ?ﬁ% .
‘. o fstereTRa (B) e
) FEfrsan (D) TeraEHEEa
| The main aim of exercise drill work in mathematics teaching jg

" |A)  to understand new formula
 (B) toenhance computation skill

{C) to clear the new concept
. (D) to utilisc the knowledge in new circumstances

oo fee T e wd W] WG 3EYE ©
Ay T2 33 = FEEAEl BT Wﬂmaﬁaﬁmaaam
(©) TFEATTE R FE (D) W e aRkff § e we

Inductive method 1s suitable
A} for establishing the formula

Bl 10 solve the problem through formula
40 0 scarch the solution of problem |
L% understand the solution of problem

AR T 3 . |

e “”“’T‘Tv (B)  TF GRI HTE g6l F 0
“'“HHET_.-_ Ig'r_ﬂ:{ T o f .

: - F (D) gl @ e &) G ®

AN Charactergien
BUCES) of Texthook of Mathematics is/are

(B)  Language and style
(D) All of these -

A ) 24 -

Subjecy Mattey
Form of Texihog)
1 Wi g

)y ud el
4) gt @ sl
666 |
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SECTION -
I INSED 1522
SOCIAL STUDIES / ave sclected thig

: h
e , ates who
Fhere are 60 questions in all in this section. The candid _

subject my st ANSWOT . slions. 4 o
T b4 g9 60 .llw-‘l”$T|][1::T:L;:::?Ji§pﬁ F zg fawg & 997 fEFQT ¢ % H‘fﬁ A
Ay el
91, When did Chauri-Chaura incident take place ?
(A} January, 1922 (B) February, 1922
(C) November, 1929 (D) April, 1922
HAI-GRT F g @ g ? . |
(A)  SFEd, 1929 (B) WTET, 1922
(C)  Haw=R, 1922 (D) 2T, 1922
92, Which ruler of Alwar appointed Pandit Harinarayan Sharma as his advisor ?
(A} Udai Singh (B) Jai Singh
(C}  Ram Singh (D} Man Singh

dfedt efRmmor vmt @ A & o ¥TH A U1 FARFN I o 2
(A) 33afge B) “EfGE
€ e (D) AT

93.  Who said that religion is the development of the divinity which is inherent it
human beings, religion is ncither in the books nor in religious principles’ ?
(A)  Raja Rammohan Roy (B) Swami Dayanand Saraswati

{C)  Swami Vivekananda (D} Dadudayal

(C) - T fadEE ) AT

94. Who is called the first poet of thc‘deprived class of India ?

(A) Dadu (B) - Jayanak

(C) Ramdas (D) Chokhamela
ARA & AT 7 H e Ha om0 e ¥

(A) T'.’ITE' [B] SR

()  THETE . (D) TrETYeT

I opposing Aurangzeb’s imposition of Jiziya tax ?
(B)  Jaswant Singh
(D)  Durgadas Rathore

666

Which ruler wrote a lette
(A) Raj Singh
(C}) Man Singh

3sos2 | EIBNIIMAII

95.

https://www.pygonline.com
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5 )
ARTAL GRT ifsqayy g MU A W fera ymaeh A 9 fevasws faayg faa o
A T B) A [

Qi o) e

What is the broposed National Asscssment Centre namcd in the National

Q6.
Education Policy. 5450 -
(A)  DIKSHA (B) NIKHAR
(C) DISHA (D) PARAKH _
U@U;‘;’T&ﬂ 9, 2000 v gt STEwEH 75 HI AT A feamm P 2 2
(A) &1
~ (B)

97. When wy : .
, was the ‘caLp programme initiated in upper primary schools 1n
Rajasthan »

(A)  2007-08 (B) 2010-11

(C) 2015-16 (D) 2004-05

& . T 11 Pt 1
mﬁﬁmnmfm@ﬁm(mmwaﬂmﬁ%w ?

(A)  2007-08 (B) 2010-11 |

(C) 2015-16 (D) 2004-05

98. When we: ‘objecti i
was the ‘objective resolution’ accepted by the Constituent Assembly as
presented by Pt. Jawaharlal Nehru ?

(A)  Deccember 9, 1946 (B) December 13, 1946

(.C} January 22, 1947 (D) January 26, 1947

Eﬁw%muﬁm‘ﬁwm’ﬁﬁﬁwmmﬁﬁww
) (A) o fgwm=r, 19046 B) 13 Tw=v, 1946

(C) 22 e, 1947 .~ (D) 26 SR, 1947

99. The Right to Education’ was made the part of which Fundamental Right by 86th
Constitution Amendment Act ? *
(A) Right to Frcedom (B)  Right to Equality
(C) Cultura! ind Educational Rights (D)  Right against Exploitation

g6 A wfgu dvitesl AafEn gR ‘foen % afuer’ R fag Hifeas sfusr @7 am

AT e 7
(A) AT T AMUER (B) WHAT & 3y

foreq Udl TRRHA 1 AMIBR (D) ¥T % fawg arfuwr

(C)
100. When was the ‘protection of Children from Sexual Offences Act’ enacted in
India ?
(A) In 2010 . (B) In2012
(C) In2014 (D) In2016

P.T.O.
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[ MI 60 .
e C LRI LI

MR el syt 9 areren o AT T et
@B 2012
(D) 2016
phasizes 00 le
{B] Princip

(A} 2010
(€} 20149

The pprime: ) .
Principle of curriculum which em

arning by doing’ 1s

101,
je of broadncss

{TJ] :::::1:[)11 of mn-li\‘.'atitm D principle of ulil\il}’-
. . ple of activity (D) %' i
mamn%iﬁaﬁqmﬁ‘ﬁ?ﬁ@ﬁ'waﬁﬁmmm ! fagr
(A) R @7 fagr (B S e
(©)  Tobar &1 fagra () ST

jsphere 1S
South West to North East
to South East

2 o
02, The direction of trade winds in northern hem
(B)

(A) North East to South West

(C)  South East to North West

I e o 1 Feem &t € .
W Mg o st ga-l & 9oe e & 30 @

(A) 3T gd F gfegor gfvem (B) \ )
©) af&mt{;a & e ufead (D) IEE AREH ¥ gfeqoT &
103. The maximum distance between the sun and the earth is called
(A)  Perihelion (B) Pe_rigcc-
(C)  Aphelion (D) Apogee
T4 U gt & e s g el €
(A) STER | - B) Iy
“ . (D) ¥y

(C) HAIHER

104. In a food chain a ‘rat’ comes under the category of
(B) secondary consumcr

(A)  primary consumer
(C) Llertiary consumer
wra Saen 1 ge’ for gvil § ST g, e

(A)  arfie 3Nl (B) Tgcmge Iusihl
() i ITHTET (D) IAREH

105. Which of the following statements is correct ?

(D) producer

(A} The dircction of the wind in a cyclone in the northern hemisphert

clockwise '

(3) The direction of the wind in a cyclone in the southern hemisphet
anticlockwise

(C}  The direction of winds in cyclones on the earth’s surface is both clock®
and anticlockwise

(D) The direction of winds in cyclones on the carth’s surfacc is
anticlockwisc :

38982 [T ' 666
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106,

107.

108.

38982

et O W shlA-41 e wEl & 2

(A) 31\'7-1"1:115—-1&;:'1‘1' AT Hogae @) fZen a2t & g2 & feen o w2

(B) RO s W awena § gad ) fqun ady &) 92 W f2en % famis S 3

() tgvrﬂ qﬁ HIE UL ThAT 1 et @y e BEA ar-f‘i 0 #) faoy T w
faon o fauda, 2 € feomatt o g5l ¥ o ‘
gecfl shl WA W Hshelel 0 gl = R N

(D) K 6 T1|ITJiTJﬂD[%?ﬂﬁ')Hﬂ'J‘@aﬂqgﬁm[éﬁfa ey

U =2 = {i-; 1

The question-answer technique can be quite effective in t .
as it cnsurcs caching social science

(A)  students’ ability to respond better In examinati
1ons

(B} students come to class well-prepared I}b

(C)  active participation by learners

(D} a more disciplined classroom

| ‘nﬁ}mﬁ%ww%mﬁwwﬁﬂaﬁﬁ%m o
. gg

(D) U U Senia e

The word ‘Assurance’ is used for

(A)  Lifc Insurance : (B)  Fire | '
::C} \ Marine Insurance ) D) ™M Z e
Wﬂ} i m % edical Insurance

() e @ & o
B)
C) R & & : D) %ﬂ%ﬁejym Eﬁi Tm

Which of the following scttles the consumer disputes at district level ?
_ vel ;

(A)  Sessions Court (B) District Court
(C)  District Forum (D) Distri

¢ : ct Collecto
ﬁt{%{f@aﬁﬁfawwwmﬁﬂﬁaﬁwﬁmwaﬁqmr% ?
(A)  IF T B) 5o ~amyrerg .

(C) Toonm ®RH | D) FTemdter

. Central bank of our country is

(A) *© State Bank of India (B) Reserve Bank of India

(D) Bank of Baroda
S |
(A) g @ 9% (B) H'Iliitqu o ¥
©) g siE e (D) P 3 T

(T PTO.

https://www.pyqonline.com

(C) Ccntral Bank of India
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: cated at
110, ank iz localt d &

T ) - . ol s Wi Hy
The headquarters of Rajasthan State Cooperative b

(A)  Jodhpur (B)  Jaipur

() Aymer (D) Kota
USRI (o Wead de w1 e e ¢

(A) Jﬂ*l‘j{ B AL
(C) 3T (D) T

ajasthan ?
111, “City of hundred islands’ is located in which district of Raja
(B) Udaipur

(C)  Pratapgarh (D) B‘anqwara

Rl R Wm%mﬁ!ﬁﬁﬁaﬂ% ?

(&) PRE B) I | -

(C) wamTg (D) FEATET . ©in the list of
112. Which of the following tribes of Rajasthan has been included 1

primitive tribal group by Government of India ? .
(A)  Bhil (B) Saharia

(A} Dungarpur

(C). Garasia (D) Meena e = e |
_Waﬁﬁmﬁ@ﬁqﬁmaﬁwm aﬁﬂﬂﬂ‘ﬂfiﬁ |
T yiie fear AT € 2 | |
(a) e : (g W@
() TrifEE _ | . (py ®wm
113. The largest'sweet water lake in Rajasthan is
(A) Jaisamand (B) Rajsamand
(C) Kayalana . (D) Silised '
e & O e Y e =Y e §
LAy TEETE B TEEER
(c) FHAMA _ D) Taes
114. Rajasthan is the largest producer state of which of the following crops in India ?
) Maize (B) Groundnut
(C) Mustard (D) “Cotton :

rmﬂﬁﬂﬁﬁﬂﬁmnua&mzﬂwwwﬁmmw% ?

A) HE B)  TEe

@ (D) U
115. Which is the best means of explaining the shape of thc carth in a classroom ?
(A)  Globe B) Map
{C) Diagram D) Ch
art
ﬂww%ﬁ?ﬁﬁa@ﬁﬁwﬁmmmww% )
f?} s (B) HAMHMA
() aEifa P

ssos2 (KNI 666
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118.

|.'6 ‘

19.

08

4 L'z 3.1 \M ¥

How many members are nominated by the Governor in the State Leginlotjve
Council ?

(A 1/3 (1) 1712

[CJ I'f‘] - [|]] |f“

o fauT gfowg | AT &I fehert Ha=Al a1 JAA Tl w1 & 7
) 1/3 (B) 1/12

& 19 o1/

The first Deputy Speaker of the first Lok Sabha in independent India, was

(A) .- Sardar Hukum Singh (B) S.'V. Krishnamoorthy Rao

(C) Anant Shyanam Ayyangar (D) GH@E. Swell

@3 WRA @l YRl Tl WWT & quH Iqregey o

(A EER EFH T (B) UH. A FOA 4

() T VAT G (D) S W =

Who is the in-charge of the ‘Voter Register’ at polling station during polling in
India ? .

(A)  The first Polling Officer (B) The second Polling Officer

(C) - The third Polling Officer (D) The Presiding Officer

WA H AARH & SRA A8 %75 W g ey’ 1 T9Rt i gl & 2
(A) T HEEH SRy B) e wagE aferd -
(©) T HRH SR (D) derde e

In which form of the Government the exccutive is responsible to the legislature ?

(A) Parhamentary Government (B) Presidential Government
(C)  Totalitarian Government ~ (D) . Military rule
e v womred! W shrifereRT frnfaer & ufT IR @t & )
(A)  FEEE TEHR (B) IR WIER
(€) WaATgHIER! GEHR (D) & v
- Which onc of the following is an example of ‘knowledge objective’ ?
(A) Explain (B) Construct
(C) Definc (D) Analyse
g g - T R SRR ?
(A) =TT FAT (B) &A1 &I&AT
(C) YRS T | (D) fereetomr s

. In which state Durgadas Rathore’s Chhatri is situated ?

(A) Rajasthan (B) Uttar Pradesh

(C) Madhya Pradesh (D) Gujarat

2[RRI [6es) |
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SR alg o) wad) faa o o oo & 2

(A) ey A ¥l
(Cy 1wy W\{QT (D) IIJ-T{TH '
122 1 Which area did the Chawand painting style dcvc{‘}l) ’
(A} Mewar (B) Haroti |
(C) Marwar (D) Shekhawatl
A0S (Ao W @t foarg fe e 8 9T 7
A g (B)
(€) wRag o) @l
123, Smt. Kishori Devi was associated with which peasant movement ?
(A) Barar (B) Sikar
(C)  Bijolia (D) Bikaner
S et 3 for fopem arelem @ g T 2
A) =T B) T
(C) Tosiiferan (D) SRR
124. In which part of the body is the ornament ‘Bajatti’ worn ?
(A) Nose (B) Teeth
(C) Ear (D) Neck
'THEY e ImsuT YRR & ferw s A gRor fRar S E 2
(A} TR (B) Sid
(€ : (D) TTeN

125. Edward Thorndike ( 1898 ) is famous for which principle in Education
Psychology ? hitps://'www.pyqonline.com

SR - S

(A) Mcmory theory (B) Forgetting theory
(C) Learning theory : (D)  Adjusting thcory é
TsTE YHerd (1898 ) FI e wRifawe f few faera % o s e & 2
) afa = fagr B) o & feera i
()  Wrad & fagra (D) HHENH & fagra |
126. Which of the following musical instruments is like a flutg ? |
(A)  Alagoja (B) Bhapang :
(C) Ravanhattha (D) Tandoora %
Frtfetfiga T @ -1 AT 45 A F AE T E 2 1
(A) ST (B) WU |
(C) TR (D) dg

ssos2  [WEHIININ 666
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. - \,\’hiCh onc of the following pairs is correctly matched »
Mahajanapﬂdﬂ Town
(A) Gandhara Mathura
() Anga Ujjain
i Sotthavati
(C) Avanli |
Kamboja Rajpur
D Kambok Py
- of 3 @ WA T T wE gAlerd €
HETAAUS T
@ & | SEE
(C) Fat ?ﬂﬁlﬂ?ﬁ
D) RIS YL
128. The Bhandadcvara Temple is located in which distn'c_:t ?
(A) Bundi (B) Kota
(C) Baran (D) Jhalawar
qesa e g et o R g 2
fa W B FHRT
© D) TS

129. Consider the following statements about Chandragupta Maurya :
1. He married the daughter of Seleucus
5. He accepted Buddhism in the last period of his life
3 He made Ashoka his successor

Which of the statements given above is / are true ?

(A) Only 1 (B) Only2
) 1,2 D) 1,2,3
Wﬂ!ﬁn’vﬁﬁaﬁﬁﬁmﬁf@ﬁmﬁwﬁaﬁaﬂﬁq;

1. mﬂaﬁaﬁrﬁr%mﬁwfﬁm

2,
5 3 &1 AT TR AT
mwﬁﬁﬁﬁ?-m/ﬁwﬁﬁ%/% ?
(A)  FaA 1 (B) haet 2
) 1,2 o) 1,23
666 P.T.O.
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131.

. 66 STL'2
130. Consider the following statements about Ashoka’s inscriptions -
1. Mdst of the inscriptions arc in Prakrit language
2. Most of the inscriptions are in the Brahmi script
Which of the statements given above is / are truc ?
(A)  Only 1 (B) Only 2
(C) Both 1 and?2 (D) None of thesce
S & sifircnt & st Frefetfad FA o FE HIC
1. atfuester sifveia wipd WS H €
2. sfusie sfere sl fafe 9 €
ITh HEH § W w1/ FYT Tl /T ?
(A)  HaA 1 (B) haed 2
(C) 1 3R 23 (D) FH § HIE A
Which states’ army did Doongji and Jawaharji fight against ?
(A)  Bikaner and Jodhpur (B) Bharatpur and Jodhpur
(C) Bharatpur and Bikaner (D) Udaipur and Banswara
St o st A fe Tt W A & foeg dad f 2
(A)  SHEAR g AU C(B) YRAY d AR
(€ AR T FEH (D) IEAR & AHAET |

132.

133.

38982 | HNIHNINIE 666

Who of the following revolutionaries assumed the pseudo namc ‘Amard:

Vairagi’ to avoid arrest ?
(A) Arjunlal Sethi - (B) Pratap Singh Barhath
(C) Kcesari Singh Barhath (D) Jorawar Singh Barhath

e O g g wiaert 3 e @ 999 & 6w 3R SRel &1 8/ A4M 9
R ? |

(A)  FEHATA WAl (B) WdNI&E IRES
) @Al fag ates (D) SRR fa areEs
Which revolutionary of Rajasthan was imprisoned in Tihar Jail ?
(A)  Arjunlal Sethi (B) Gopal Singh Kharwa
(C) Kesari Singh Barhath (D) Pratap Singh Barhath
TS % T witaert @1 faerg sie | @ T o 2
(A)  FFferer ¥el (B) T foE @we
© a0 fae anes (D) WETTEE TNES
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|
Who among the f.ollow‘ing were in the Chandaval Squad of Maharana Pratap n
134 the Battle of Haldighati ?
1. Purohit Gopinath 2. Rana Punja
3. Jaimal Mchta 4 Hakim Khan
5. . Charan Jaisa O. Krishnadas Chundawat
) 1,2,3,4 . By 2,3, 4,5
©) 2.3, c:,ﬁ \ } D) 1,2 3 5
Frstfaitiad 7 U P EERIER] & g H HERION WS & darael 2l o viiies o
1 gRiEE T 2. g
3. SR Hgdl 4.  FHMH @i
5. RO ST 6. FURN derad
A 1,2,3,4 B) 2,3,4,5
C) 2,3,5,6 (D) 1,2,3,5
135. Which of the following Chhatris is considered as the largest Chhatri of
Shekhawaty ? .

(A} Chhatri of Ramgopal Poddar *  (B)

(C) Chhathri of Hardayal Singh (D)  Chhatri of Gopal Singh
fﬁaﬁganum%ﬂﬁrmﬁaﬁma@wﬁww% ?

(A) AT EER &S] (B) Fw e H Fed
(€) e&ae fag &l o (D) T for =Y oad

Chhatri of Kalyan Singh

136. Which of the f()].!.()wing Indus-Saraswati civilization sites are located in Pakistan ?
1. Mohenjodaro 2. Harappa
3. Prabhas Patan 4. Alamgjrpur
5. Chanhudaro 6. Kotdiji
(A 1,3,56 B 1,2,4,5
< 1,2,5,6 D 1,2,3,4
1, Heeike 2. wE -
3. W uRA 4. ARG
5. OEE! 6. IR
(A) 1’3’5’6 . (B) 1‘: 2, 4,5 |
© 1.2.56 D) 1.2,3,4
137. The grc’al. mathcmatician Brahmagupta[;}as bg;:::: which district of Rajasthan ?
(A)  Jalore D) gigﬂner _
C Sikar _ ;
;g]ﬁnﬁ,ﬁﬁ ST 1 W T h:;hqa g 2
(A) TR (D)
(C) qral

ST se
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138. Con; o . od °
Lonm?ur th:\ f_:lullo“.-mg statements about the U“;l,]:a I:i::,]r chram?
2 ,!j}“h;‘_s“m Ashram was the fecdet “{ r;i,
¢ village officer was called ‘Grama
Whichs.;}f th:\hi merchant _(‘.1:1:%;5 was (:-:ﬂluc'i Vl:t:L 5
(A) Only 1 stalements given above 18 /. arc -
(B) ’
€) 1,3 o) L, 2,3
&ﬁ%aﬁw%mﬁﬁﬁcﬁ@ﬂwﬂﬁm faame BT
1. TR anem e el amsml @ Areeh A 5
2. UM F syt wEoR el A = ?
. 3. THRY & ‘ferer’ e SiEr Al
SUYE FAl o F e-qr/d el 88 7
(A) ) B) 1,2 3
€ 1,3 oy 1,2,3 CL. f
139. Where was the branch of Ramsnehi sect established by Sant Dariyav)! ? :
(A) Shahpura (B) Sinhthal
(C)  Rain (D) Khedapa |
ﬁmﬁmﬁmwﬁﬁwﬁwﬁmﬁﬂﬁm? !
(A) T B) faeue
() I (D) eI
140. Considef the following statements about Mahaveer Swami :
1. He was born in Lumbinii
2 His childhood name was Vardhamana
3. His mother’s name was Mahamaya
4 He was the first Teerthankara of Jainism

Which of the statements given above is / are true ?
(A)  Only 2 (B) 2,3
€ 1,2 (D) 1,4
TRTER @ & a) ° HEeiad s9A1 9T FEr SIE
1. 3 S el H gan
2. I9%h F99q &l A dgHHA Al -
3. 3IR! HIAT ST ATH HRTHET o1 '
4. o S9 Y9 o gUd qgET o
394 FeAl H Q@ HIA-A1/9 GE 88 2
(A)  HFA 2 B) 2.3
€ 1,2 D) 1,4
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41.

42.

13.

The ‘National Voter Day' is celebrated in India on

(A)  25th January (B) 25th March

(C) _251}1 September (D)  25th November
MRA | U vy fag! AT ST 8

(A) 25 Fehy B) 25 M

(C) 25 fgemay (D) 25 I

‘Agriculture ang Irrigation’ are included in the list of the Constitution of India,
which is

(A} the Union jsy (B) the State list

©) . lh‘f Concurrent Jist (D) residual subjects

Hier .mrﬂum o gt 'Fiw wd fgarg’ & wfne faan 7 2 A 2

&) w9 B g

(C)  EHadl get (D) wEfT fana

U_ndcr which Arlliclc of the Constitution of India, the Supreme Court has been
given place as the ‘Court of Records’ ?

(A) 129 (B) 130

(C) 137 (D) 143

;ﬁgﬁﬁ W ST se et Ao @ e e w e e
(A) 129 (B) 130
(C) 137 : (D) 143
Under which Article of the Constitution of India, executive power of the union s
vested in the President ?

(A) 53 (B) 54

(C) 55 (D) 56
Wﬁﬁwémw&squﬁﬁﬁaﬁmmhﬁa
gl & ?

(A) 33 (B} 54
(C) 55 (D) 56

Chapter 2A of Rajasthan Panchayat Raj Act, 1994 provides the formation of
(A) Gram Panchayat (B)  Panchayat Samijtj

(C) Zila Parishad (D) Gram Sabha

Tty darEd T 3, 1994$W2§uhp¢-mmmmg ar
(A) TH qarad : (B) Y9I wimfg ' ¢
() foem oy (D) UM H

Which of the following decades registered negative population growth in Ingia >
! da

(B) 1911 - 192
(D} 1971 - 198}

PTO
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(c) 1921- 1931
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ﬁmﬁﬁmmﬁwﬁﬁmmﬁﬁﬁﬂ ’
(A} 1901 - 191 (B) 1911 - 1921
(C)y 1921 - 193 (D) 1971 - 1981 o
147 Which of the following is the oldest iron and steel company in India ?
(A)  TISCO (B) 1SCO
(C)  VISL (D) SAIL
st 1 Q-1 ele-gea S@ET gRe § weitees [ € ?
(A)  TISCO (B) 1ISCO
(C) VISL — (D) SAIL |
148. The correct order of location of given physiographic features from north t
south is

(A)  Tarai — Bhabar — Khadar — Delta

(B) Tarai — Bhabar — Delta — Khadar

(C) Bhabar — Khadar — Delta — Tarai

(D) Bhabar — Tarai — Khadar — Delta :

&Y 7 - 3nHiaal w1 IR @ feor fgen | oafifd w wdt ww R
(A) TS — MR — @Y — T

(B) X% — R — ST — @WIRT

(C) W — WY — o2l — iy
(D) R — T — @R —

149. Which state is the largest producer of Gypsum in India ?

(A) Rajasthan (B) Gujarat
(C) Jharkhand - (D) Madhya Pradesh
R T {1 gellfys I 99 HIF-91 & 2
(A} TEAH (B) T
(C) ¥RETE : (D) HY US¥
150. Zanskar river is used for irrigation and power generation in which region ?
(A) Arunachal Pradesh (B) Sikkim
(C) Ladakh ) (D) Garhwal-Kumaon
FRat <1 1 IqEnT faard e faea SeA & e wew # T i g 2
(A)  3TEOTEE W_ET (B) Tafesn ;
() @ | D) TEATA-FHIS

“3s0s2 BN
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